No0.SS2-2330-0650
(Rev. 1)

SystempakK (Digital/Single Case)
Integrator Module
Model J-SAP 90

Introduction

The Integrator Module (J-SAP90) is a signal conversion module
housed in a single case and converts an input signal to a pulse
and continuously counts it in conjunction with the counter. In
addition to the proportional integration of inputs linearly, the
Integrator Module, which provides the input linearization function
as a standard function, can serve alone as a square root extractor.
Function setting changes on the Integrator Module can be
performed easily with the dedicated Loader Software, which
operates on a general-purpose PC.

S

pecification

Input signal: 1 to 5V DC or 4 to 20 mA DC

Input impedance: 1 MQ (voltage input), 250 Q (current)
Input linearization: 101 linearization points

Square root extraction: Input linearization is used (dropout
function available).

Output circuit (Specifying of model): Triac (for driving the AC/
DC electromagnetic counter) or open collector

Maximum allowable load:

Triac; 24V DC 250 mA

Open collector; 30V DC 30 mA

ON voltage:

Triac; 2V or less

Open collector; 0.4V or less

ON current: 250 mA or less (Triac)

Specified circuit voltage:

200V DC 130V AC or less (Triac)

Maximum output frequency setting:

Triac; 0.000278 HzFS to 5 HzFS

Open collector; 0.000278 HzFS to 2 kHzFS

Pulse width type:

Selectable from 50% duty, or fixed on-pulse, or fixed off-pulse.
(Open collector output only)

Pulse width time (ON time):

Triac; Fixed at 100 msec

Open collector; 50 u sec to 1 sec (On the basis of 1 u sec)
Input low-level cut: Specifying of low cut value by %.

Output low-level cut: Specifying of low cut frequency (7 digits).
Accuracy: See the accuracy table:

Maximum output|  Output span width Output accuracy % of
frequency setting output span
0.00278 HzFS [ When 50% or more of | +0.1%
to frequency set maximum
1 kHzFS output
When 50% or less of ditto | +0.1%x("Full-scale set
output frequency"/2) /
("Full-scale set output
frequency"” - "0% set
output frequency")
1 kHzFS +0.2%X("Full-scale set
to output frequency"/2) /
2 kHzFS ("Full-scale set output
frequency" - "0% set
output frequency")

Arithmetic period: 5 msec

Input/output response:

Minimum of 120 msec (0 to 90% response)

Insulation resistance: 500V DC, 100 MQ min.

(Mutual between input - output - GND - power terminal)
Withstand voltage: 1000V AC, 1 minute

(Mutual between input - output - GND - power terminal)
Power supply: 24V DC *? %

Current consumption: 200 mA or less (at 24V)
Ambient temperature:

Normal operating condition; 5 to 45C

Operation limit; 0 to 50C
Ambient humidity: 0 to 90%RH (No condensation allowed)
Mounting: Panel, wall, DIN rail attachment

Color of front mask: Black
Weight: 400 g

Operating influence:

Supply voltage effect; +0.1%FS/24V DC */2%

Temperature effect; +0.15%FS/10C

Loader settings:

Module ID; 16 one-byte characters, 8 two-byte kanji characters
Input scaling setting; Zero span setting within input range
(Setting of an input such as 0, 100% at each input)
Linearization setting; 101 points

Input filtering; Unavailable/available (Moving average)
Output low-level cut; Without/with (Low-level cut frequency
is variable; Specify it by frequency in 7 digits.)

Pulse width type; Selectable from 50% duty, or fixed on-pulse,
or fixed off-pulse.

(For open collector output)

Pulse width time; When set to fixed on-pulse or fixed off-
pulse. (For open collector output)

50 usec to 1 sec (1 u sec resolution)

Output zero span adjustment; Setting of any value within output
range (0.00278 Hz to 2 kHz F.S.). Minimum span: 10 C/H

Specification =



Example: J-SAP90X-12-0

Communication
connector
PC loader © %
Isolation circuit |Output circuit| +
_ Digital o —©
@ + Analog input processing —> }_E K T -
Input signal processing circuit section @
- J\
©r1
Power circuit
©
©
Figure 1. Functional block diagram of integrator module
Model Number Table
Basic model number Selections Additions Description
I Il |
J-SAP90 Integrator Module
X No varnish coated
C Varnish coated
-1 Input: 1 to 5V DC
-2 Input: 4 to 20 mA DC
1 Output: Non-contact output
2 Output: Open collector
-0 Without test report

With test report




U vy v

N
le— RX—>
[&))
N —>> I&O

e — ] -l Cover (See Note 2)

=l
[N

96 35 = | "o
_ [4]5]
0 [Ie1]
H 7118
g 31(0 ]|l
E s | — i—l - _L
/ A v e =
Sliding block 212.6
No. Description
1 (Note 1) .
2 (Note 1) Input (_)
3 Input (+)
4 Output
5 COM
6 N
7 .
8 24V (PS +)
9 GND
10 oV (PS-)

Note 1) 250Q resistor is added for current input.
2) Operate the Module with a cover.
3) Terminal screws: M3.5
4) Use the pressured terminals with insulation sheath.

Figure 2. Dimensions and wiring diagram

When ordering, please specify:
* Use the quick list below when specifying the range.

1) Tag number Ranges other than those below are also accepted.

2) Maximum output frequency* [Set to 0 to 1 Hz by defaul]

Code No. Range
The following are also set by default: ot 0100.0278 Hz (0to 100 C/H)
. N . . 02 0t0 0.2778 Hz (0 to 1000 C/H)

a) Input linearization setting: Linear

03 Oto1Hz
b) Output low cut: Unavailable 04 0to 10 Hz
c) Pulse width type: 50% duty 05 0to 100 Hz

06 0to 1 kHz

07 0to 5 kHz




i
Panel-mounting i
o nnn ol
@c OQ‘ID
° o| :
i 17 >t 2-4.5 holes
Panel /’I / )
b Eam—
o 115
128
B 0
g L ooy
L-type mounting brackets i TG 5
(2. top and bottom) HY ’
(standard accessory) .
138 74.6
Panel-cutout
1k35%%8  2-M4 screws (nx35'%%) +2 2-M4 screws
17505 1758 (h=1)x35"%°_, / (for number of modules)
/ (9) evenly-pitched /
i 97*%  115%°
Single Multi-mounting
mounting (n: number of modules mounted)
DIN rail mounting Wall-mounting
o (] o [
@ °® e [
(] o o |
L-type mounting brackets
DIN rail (2, top and bottom)(standard accessory)
p— = — — ]
i
A
H 0 0
g o
T = | J 1 |
j l 212.6
Sliding block 4 or more
DIN rail mounting Wall-mounting
(n: number of modules mounted)
2-M4 screw
Fixes the rail with o (x35)%83 for number of modul
Wall or angle *'11|“ M4 screws (200mm pilch) evenly-pitched ( modules)
l m S N S bl (
iRl T i AR
27 or less 35 | - | ! | s
P ' 115
L1 E ] SRR
! 200 M4 screws | il | i |
(7.5 or more) IR e o o B o (
Recommended DIN rail and end fittings Rail : DAS-4 [Toko Giken made]
End fittings :  ATO-29 [Toyo Giken made]
Figure 3. Mounting method

Please read the "Terms and Conditions" from the following URL before

ordering or use:
http://www.azbil.com/products/bi/order.htmli

Specifications are subject to change without notice.

azbil

Azbil Corporation

Advanced Automation Company

1-12-2 Kawana, Fujisawa
Kanagawa 251-8522 Japan
URL: http://www.azbil.com/

(10)

2nd edition: Jan. 2013

7

No part of this publi

may be rep

duced or dupli

without the prior written permission of Azbil Corporation.



